S-C-8-2_Conversion Examples

Conversion Examples
The conversion factor for each problem is shaded.

Changing Mass to Number of Moles

How many moles of H2O are in 9.0 grams?

	mol H2O =
	9.0 g H2O
	×
	1 mol H2O
	=
	0.5 mol

	
	
	
	18.02 g H2O
	
	


Changing Number of Moles to Mass

What is the mass of half a mole of CO2?

	g CO2=
	0.5 mol CO2
	×
	44.01  g CO2
	=
	22.0 g

	
	
	
	1 mol CO2
	
	


Changing Number of Moles to Particles

How many molecules are in 10 moles of carbon disulfide (CS2)?

	molecules CS2 =
	10 mol CS2
	×
	6.02 × 1023 molecules
	=
	6.02 × 1024 molecules

	
	
	
	1 mol CS2
	
	


Changing Particles to Number of Moles
How many moles of O2 are represented by 8.65 × 1024 molecules of O2?
	mol O2 =
	8.65 × 1024 molecules O2
	×
	1 mol
	=
	14.4 mol

	
	
	
	6.02 × 1023 molecules O2
	
	


Changing Moles to Volume of a Gas at STP
What is the volume of 2.0 mol argon gas at STP?

	volume Ar =
	2.0 mol Ar(g)
	×
	22.4 L
	=
	44.8 L

	
	
	
	1 mol Ar(g)
	
	


Changing Volume of a Gas at STP to Moles

A sample of oxygen gas occupies 7.7 L at STP. How many moles does that represent?

	mol O2 =
	7.7 L O2(g)
	×
	1 mol O2
	=
	0.34 mol

	
	
	
	22.4 L O2
	
	


